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ERBEE
Y - BB KR 12 6,072 121,778 11 100
B B A 13 — — — 141,297
SR R/NEE] 14 — 10,404 — 20
REIRE 15 — 64,124 — 37,979
REE AR 16 — 5,397 — —
HEm&EE — 177 — —
6,072 201,880 11 179,396
REBEE
f% = 17 4,925 21,863 — —
HITHAED 18 3,093 32,400 — —
FEUWBR X ~ & RIBTFIA 19 46,755 87,402 32,472 231
HHERE 20 230 7,150 — —
He RIRITHEH 21 4,774 21,238 229 499
59,777 170,053 32,701 730
REBEE
B3R A 22 143 5,359 — —
FERTERR R BT & A 23 47,752 302,997 12,197 48,280
I8 516 951 — —
48,411 309,307 12,197 48,280
REBEE(AEB) FHE 11,366 (139,254) 20,504 (47,550)
BEERARBAERE 17,438 62,626 20,515 131,846
FREBEE
RITER K EMER 24 118,104 — 106,163 —
A E e 25 96 2,764 — —
EER IR 26 — 15,519 — —
118,200 18,283 106,163 —
DB RS 1,261 — — —
(BB EERHE (102,023) 44,343 (85,648) 131,846
2T _FFR

TREEREEFR LA



3 8 E X =

R-ZFEF-—FANA=1+H
£H AT
—2E=F —FTEF —EE=-F —FTF
hB=+H NA=+H hB=+H NA=+H
ikz3 BYTF T BT BY T T BT
BAXRFE
B EITIRA 27 596,257 596,257 596,257 596,257
REEE 28 (991,510) (876,103) (981,954) (764,460)
M 29 293,230 324,189 300,049 300,049
(102,023) 44,343 (85,648) 131,846
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